(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

# Result Register (A.T.K.T. Exam.)

Repeater

PR	OGRA	MME : Bacl	nelor of Commerce										EXA	MIN	ATIO	N : S	epten	ıber -	2025	5							SE	MEST	ER: I	Ι
Sr. No.	Roll No.	Seat No.	Name		nerce-I I duction	у	untanc & ancial	s	mental of gement	to Bu	siness	Mathe	incial ematic - II	al Is	onment sues nd	Ski	ill in	Sk	ational ill in unting -	Hi Bha: Kaus		Funda Is		Ser	ional rvice neme	Total Marks	Sum CG	Credits Earned	SGPA	Grade
					SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE		SEE	-	SEE		SEE		SEE		SEE		SEE					
				8/20	12/30	8/20	12/30		12/30		12/30	8/20	12/30	8/20			12/30	8/20	12/30			8/20	12/30		12/30					
1	24222	NFC2925014	/ GUPTA KOMAL SAKALNARAYAN ANITA	\$13	12	\$14	12	\$12	24	\$16	15	\$14	22	\$16	\$12	\$14	20	\$11	\$12	\$11	12	\$15	\$12	\$16	\$13	318	130	22.0	5.91	В
2	24297	NFC2925015	GUPTA MANISH PAPPU ARTI	\$13	12	\$14	\$12	\$12	26	\$13	\$12	\$18	\$21	\$13	\$12	\$14	\$12	\$11	\$12	\$15	\$12	\$12	\$12	\$16	\$12	306	120	22.0	5.45	С
3	24291	NFC2925034	PAWAR RAHUL SANTOSH DURGA	\$11	12	\$14	\$12	\$13	\$16	\$14	\$12	\$14	13	\$16	\$12	\$16	\$12	\$11	\$13	\$12	\$12	\$15	\$13	\$15	18	296	116	22.0	5.27	С
4	24068	NFC2925035	/ PINJARI MEHVISH SALIM SALMA	\$13	14	\$14	\$12	\$14	\$17	\$14	\$12	\$15	\$12	\$16	\$12	\$10	\$12	\$13	\$14	\$14	\$12	\$15	\$17	\$15	\$12	299	118	22.0	5.36	С
5	24224	NFC2925040	SHAIKH MOHAMMED REHAN YAAR MOHAMMED ROSHAN JAHA	\$12	12	\$14	\$12	\$12	\$12	\$14	\$12	\$14	06	\$14	\$12	\$13	12	\$13	12	\$11	\$12	\$13	\$12	09	12	265	92	20.0		F
6	24133	NFC2925060	YADAV ANKIT VISHRAM BIGANIDEVI	\$14	\$12	\$14	\$12	\$13	\$12	\$15	\$12	\$18	14	\$15	12	\$12	12	\$11	\$26	\$11	\$13	\$13	04	\$16	\$12	293	108	20.0		F
7	24156	NFC2925061	YADAV RISHI RAJESH PRAMILA	\$12	03	\$12	\$12	\$13	\$15	\$15	\$12	\$13	01	\$15	\$12	\$14	05	\$11	02	\$12	04	\$14	\$12	\$15	\$12	236	60	12.0		F
8	24259	NFC2925065	YADAV TARUN PRADEEP SINDHORA	\$14	\$12	\$16	\$12	\$13	\$12	\$15	\$12	\$12	13	\$15	\$15	\$13	\$12	\$12	12	\$10	14	\$14	\$12	\$15	\$8 #4	283	110	22.0	5.00	С
9	24248	NFC2925081	JAISWAL VIVEK RAKESH SANGEETA	\$10	\$12	\$10	12	\$10	\$12	\$10	16	\$10	04	\$9	\$12	\$10	\$12	\$10	\$12	\$9	12	\$10	12	\$15	\$12	241	84	20.0		F
10	24132	NFC2925084	KANOUJIYA ASHISH VEDPRAKASH KUSUM	\$15	AB	\$14	\$12	\$14	\$14	\$14	\$12	\$15	AB	\$15	14	\$12	12	\$11	\$12	\$13	\$13	\$13	\$12	\$15	\$12	264	90	18.0		F
11	24136	NFC2925085	CHADDA GAURAV BALKISHAN NIRMALA	\$14	AB	\$13	\$12	\$13	\$12	\$17	\$12	\$18	AB	\$15	16	\$12	12	\$11	\$12	\$13	\$12	\$14	\$15	\$15	\$12	270	94	18.0		F
12	24314	NFC2925087	RAM NILESH ASHOK REENADEVI	\$14	\$12	\$16	AB	\$14	\$24	\$17	\$12	\$15	\$12	\$16	\$12	\$15	\$12	\$14	\$20	\$12	\$14	\$15	\$24	\$16	\$15	321	124	20.0		F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

# $Result\ Register\ \hbox{\scriptsize (A.T.K.T.\ Exam.)}$

Repeater SEMESTER : II

**PROGRAMME**: Bachelor of Commerce

Sr.	Roll	Seat No.	Name	Comn	nerce-l				amental				ncial		onment		ational		tional		ndi	Funda			ension	Total	Sum	Credits	SGPA	Grade
No.	No.			(Introd	i duction	1 1	& ancial	_	of gement		siness omics		ematic - II		ssues		till in unting -		ill in Inting -	Bha Kaus	sna - halya	Peo	of ple's	VVO	rk - II	Marks	CG	Earned		
				IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	<u> </u>	SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30					
13	24241	NFC2925004	/ BHARADWAJ ROSHANI MUNNA PHOOLMATI	\$15	\$12	\$15	\$12	\$14	\$12	-	\$12	\$13	\$13	\$16	\$12	\$14	12	\$14	\$16	\$15	12	\$14	\$12	\$16	\$12	297	118	22.0	5.36	С
14	24286	NFC2925006	CHAVAN HITESH RAMESH SEEMA	\$10	AB	\$10	AB	\$18	\$24	\$10	\$15	\$17	\$12	\$16	\$12	\$10	\$12	\$19	\$16	\$16	\$13	\$18	\$21	\$11	\$15	295	114	18.0		F
15	24026	NFC2925009	/ DHEEGAN MUSKAN RAJU DEEPALI	\$11	03	\$16	04	\$12	\$16	\$14	\$12	\$11	\$12	\$15	\$12	\$14	\$12	\$12	\$13	\$12	\$12	\$14	\$12	\$13	\$15	267	90	18.0		F
16	24031	NFC2925012	/ GOUD KHUSHI VISHAL AMRUTHA	\$12	12	\$15	\$12	\$12	\$18	\$16	\$15	\$12	13	\$14	\$14	\$13	\$12	\$12	\$14	\$10	\$12	\$13	\$15	\$13	\$15	294	120	22.0	5.45	С
17	24044	NFC2925016	GUPTA SOHAN ALAGU PUSHPA	\$14	\$13	\$18	12	\$15	\$16	\$13	\$14	\$13	\$14	\$17	\$12	\$15	\$12	\$14	\$13	\$13	\$12	\$16	\$12	\$15	\$15	308	126	22.0	5.73	В
18	24070	NFC2925021	/ JAISWAR KOMAL UDAYSHANKAR MEERA	\$13	\$12	\$15	\$13	\$9	\$24	\$14	\$14	\$12	\$13	\$13	19	\$14	\$12	\$13	\$17	\$12	16	\$19	12	\$15	\$16	317	136	22.0	6.18	B+
19	24295	NFC2925026	/ KANOJIYA MANSI VINOD URMILA	\$13	12	\$17	\$12	\$16	\$16	\$14	\$14	\$12	\$12	\$15	\$12	\$12	\$12	\$14	\$12	\$14	\$13	\$14	\$15	\$13	\$18	302	120	22.0	5.45	С
20	24315	NFC2925031	/ NAIR RISHIKA RADISH GAYATRI	\$14	13	\$18	\$12	\$14	\$24	\$15	\$19	\$19	\$18	\$17	\$14	\$16	\$14	\$15	\$12	\$14	\$12	\$16	\$18	\$12	\$18	344	146	22.0	6.64	B+
21	24292	NFC2925032	NISHAD SUMIT KISHAN SUNITA	\$15	\$12	\$16	12	\$15	\$21	\$17	\$17	\$17	\$12	\$18	\$21	\$13	\$12	\$15	\$20	\$14	\$15	\$17	\$24	\$13	\$22	358	152	22.0	6.91	B+
22	24249	NFC2925033	/ PAL KAJAL SURENDRA USHA	\$15	\$12	\$17	12	\$14	\$22	\$15	\$15	\$15	\$12	\$15	\$20	\$12	\$12	\$11	\$16	\$14	\$12	\$14	\$25	\$17	\$14	331	136	22.0	6.18	B+
23	24138	NFC2925037	RAM DEEPAK DEVNATH CHANDRAVATI DEVI	\$17	12	\$15	\$12	\$12	\$12	\$15	12	\$13	\$12	\$14	14	\$12	06	\$11	\$12	\$14	\$12	\$12	\$12	\$19	\$12	282	102	20.0		F
24	24102	NFC2925039	SAHANI SURAJ JAICHAND MEERA	\$14	AB	\$15	\$12	\$13	\$22	\$17	\$12	\$13	\$12	\$15	\$12	\$14	\$12	\$14	\$24	\$13	\$16	\$14	\$22	\$12	\$17	315	124	20.0		F
25	24119	NFC2925041	SHAIKH MUBASSHIR MANSOOR DEEBA	\$10	\$13	\$13	05	\$12	\$17	\$15	\$13	\$14	\$12	\$14	\$15	\$14	12	\$12	\$14	\$11	12	\$13	\$12	\$14	\$16	283	106	20.0		F
26	24101	NFC2925044	SHAIKH SAMEEM SALEEM ZANNATUNNISHA	\$11	AB	\$15	\$12	\$12	\$20	\$12	\$14	\$13	12	\$14	\$12	\$12	\$12	\$12	02	\$12	\$13	\$12	\$14	\$11	\$14	261	92	18.0		F
27	24271	NFC2925045	SHARMA AVINASH ANIL NIRMALA	\$14	\$17	\$14	12	\$12	\$23	\$15	\$18	\$11	\$20	\$14	\$13	\$12	\$12	\$11	\$15	\$11	\$14	\$13	\$23	\$12	\$17	323	134	22.0	6.09	B+
28	24045	NFC2925048	SIOTE RITESH SONU HEMA	\$12	\$12	\$17	\$12	\$13	\$14	\$15	\$12	\$14	\$12	\$15	AB	\$14	06	\$11	\$12	\$12	\$12	\$14	\$12	\$13	\$12	266	86	18.0		F
29	24097	NFC2925050	TELGU SAURAV NARSAPPA RAMABAI	\$12	04	\$16	\$12	\$12	12	\$12	14	\$11	12	\$18	\$12	\$14	12	\$11	04	\$11	12	\$13	\$12	\$13	12	261	90	18.0		F
30	24071	NFC2925058	YADAV ABHIJIT DANBAHADUR KANCHAN	\$14	12	\$15	\$12	\$12	\$15	\$13	\$12	\$14	\$14	\$15	\$12	\$15	12	\$12	\$13	\$15	\$12	\$14	\$12	\$13	\$13	291	112	22.0	5.09	С

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

# Result Register (A.T.K.T. Exam.)

Repeater SEMESTER : II

**PROGRAMME**: Bachelor of Commerce

S	٠.	Roll	Seat No.	Name	Comn	nerce-l	Accou	untanc	Funda	mental	Introd	uction	Fina	ncial	Enviro	onment	Voca	itional	Voca	itional	Hii	ndi	Funda	menta	Exte	nsion	Total	Sum	Credits	SGPA	Grade
N	).	No.				l	у	&	S	of	to Bus	siness	Mathe	ematic	al Is	sues	Sk	ill in	Ski	ill in	Bhas	sha -	ls	of	Wor	rk - II	Marks	CG	Earned		
					(Introd	duction	Fina	incial	Manag	gement	Econ	omics	s.	-	a	nd	Accou	ınting -	Accou	ınting -	Kaus	halya	Peo	ple's							
						SEE		SEE								SEE										SEE					
					8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30					
	1 2	24020	NFC2925068	SINGH AYUSH SANDEEP MANISHA	\$15	\$12	\$16	\$12	\$10	\$12	\$18	\$14	\$14	\$12	\$15	\$12	\$12	\$12	\$11	\$12	\$11	12	\$15	\$12	\$14	\$12	285	108	22.0	4.91	Р
	2 2	24236	NFC2925069	SHAIKH NADEEM SALIM SAIRA	\$14	13	\$14	\$12	\$12	\$13	\$15	\$12	\$11	05	\$14	13	\$12	\$12	\$10	06	\$10	12	\$12	\$12	\$15	\$12	261	84	18.0		F
3	3 2	24118	NFC2925070	/ NIKUMBH PIYUSHA KISHOR UJAWALA	\$16	\$12	\$14	\$12	\$13	\$22	\$15	\$13	\$15	\$12	\$14	\$12	\$14	14	\$14	\$14	\$11	12	\$13	\$17	\$15	\$18	312	130	22.0	5.91	В
3	34 2	24174	NFC2925075	PAL AMIT OMPRAKASH SUNITA	\$13	\$12	\$14	\$12	\$12	\$12	\$14	\$12	\$15	13	\$13	\$12	\$12	14	\$11	\$12	\$10	\$12	\$13	\$12	\$12	\$12	274	104	22.0	4.73	Р
(	5 2	24074	NFC2925077	PANCHAL ABHISHEK ARVIND RENUKA	\$15	13	\$15	\$12	\$14	\$20	\$18	\$12	\$12	\$12	\$15	\$15	\$12	\$12	\$10	\$12	\$14	\$14	\$14	\$20	\$13	\$15	309	126	22.0	5.73	В
(	6 2	24199	NFC2925078	/ SALVE VARSHA MUKESH ASHWINI	\$13	05	\$18	\$12	\$13	\$19	\$14	\$18	\$14	03	\$16	\$15	\$14	\$12	\$11	\$12	\$12	\$12	\$14	\$20	\$12	\$13	292	106	18.0		F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

### Result Register (A.T.K.T. Exam.)

Repeater SEMESTER : II

**PROGRAMME**: Bachelor of Commerce

Sr. No.	Roll No.	Seat No.	Name		nerce-l	у	untanc &	s	amental of	to Bu	siness	Math	ancial ematic	al Is	onment	Sk	ational	Sk	itional ill in	Kausl		Funda Is	of	Sei	ional vice	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IΔ	SEE	IΔ	ancial SEE	-	gement SEE		SEE	-	- II SEE		nd SEE		unting - SEE		SEE	<u> </u>	SEE		SEE		eme SEE					
				8/20	12/30	8/20	12/30		12/30		12/30		12/30			8/20	_		12/30		12/30		12/30							
37	24109	NFC2925001	/ AWARE GAURI DATTATRAY SUREKHA	\$10	12	\$14	\$12	\$13	\$19	\$15	\$13	\$14	12	\$16	\$12	\$14	\$12	\$12	\$12	\$11	\$12	\$15	\$14	\$16	\$12	292	116	22.0	5.27	С
38	24108	NFC2925022	/ KADAM ISHA BABASAHEB SUSHMA	\$12	13	\$14	12	\$13	\$23	\$13	\$13	\$11	05	\$15	\$18	\$14	13	\$12	\$18	\$12	\$12	\$14	\$22	\$15	\$14	308	120	20.0		F
39	24092	NFC2925030	/ KSHETRE SONALI MAHENDRA MEENA	\$19	\$20	\$17	17	\$15	\$26	\$15	\$22	\$20	\$16	\$17	\$24	\$16	\$12	\$16	\$18	\$18	\$14	\$17	\$26	\$16	\$22	403	172	22.0	7.82	Α
40	24007	NFC2925046	SHIRSHAT ABAY BABU VARSHA	\$12	\$12	\$14	12	\$12	18	\$15	\$14	\$12	\$12	\$14	\$15	\$12	\$12	\$11	\$21	\$13	\$12	\$13	\$13	\$19	\$20	308	122	22.0	5.55	В
41	24144	NFC2925049	TANDLEKAR OM CHANDRAKANT MANGAL	\$16	12	\$16	\$19	\$12	\$16	\$16	\$13	\$16	\$12	\$18	\$16	\$13	12	\$11	\$12	\$14	\$14	\$17	\$12	\$15	12	314	130	22.0	5.91	В
42	24036	NFC2925052	THOSAR SAMANYU SANJEEV VARSHA	\$15	01	\$14	\$12	\$14	18	\$14	14	\$12	\$16	\$14	17	\$13	12	\$11	\$15	\$16	12	\$13	12	\$19	\$12	296	118	20.0		F
43	24154	NFC2925062	YADAV SANDEEP KUMAR HANSRAJ SUGHARA	\$14	00	\$13	\$12	\$13	\$20	\$15	\$17	\$13	00	\$15	\$12	\$14	\$12	\$13	\$12	\$13	\$12	\$14	\$18	\$16	\$12	280	104	18.0		F
44	24247	NFC2925079	/ NAVGHARE SHRADHA AVINASH SHOBHA	\$14	13	\$10	\$12	\$10	\$17	\$16	\$13	\$16	\$25	\$16	\$12	\$12	\$13	\$11	\$15	\$16	\$21	\$15	\$21	\$15	\$12	325	132	22.0	6.00	B+
45	24305	NFC2925086	ZAREKAR MAYURESH ANIL SUNITA	\$16	\$17	\$17	\$12	\$12	\$12	\$16	\$12	\$13	\$12	\$16	\$12	\$16	\$12	\$12	\$12	\$13	13	\$15	\$12	\$16	\$16	304	122	22.0	5.55	В

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

## Result Register (A.T.K.T. Exam.)

Repeater SEMESTER : II

PROGRAMME: Bachelor of Commerce EXAMINATION: September - 2025

Sr. No		Seat No.	Name		nerce-l I duction	Accou y Fina	&	s		to Bu	luction siness omics		ematic	al Is	nment sues	Vocati Skill	l in	Voca Ski	ll in	Hii Bhas Kaus	sha -	ls	amenta of ple's	to Sp		Total Marks	Sum CG	Credits Earned	SGPA	Grade
				`	SEE	IA	SEE	IA	gement SEE		SEE	IA	SEE	IA	nd SEE	Accour	SEE		SEE		SEE		SEE	Phy: IA	SEE					
				8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30					
46	2400	NFC2925011	GHORPADE KRISHNA KISAN KANCHAN	\$15	06	\$15	06	\$17	\$13	\$14	\$12	\$15	\$15	\$14	\$12	\$14	\$12	\$11	\$19	\$11	\$12	\$13	\$12	\$18	\$25	301	108	18.0		F
4	24072	NFC2925013	GUPTA ASHITOSH RAMSAKAL GUDDI	\$13	12	\$17	\$12	\$12	\$12	\$12	\$18	\$10	\$12	\$15	\$12	\$10	12	\$12	\$12	\$10	04	\$13	\$12	AB	AB	242	88	18.0		F
48	2405	NFC2925024	KAMBLE OMKAR PRATAP SUNITA	\$12	\$14	\$13	12	\$12	\$12	\$12	\$12	\$10	12	\$16	12	\$10	\$12	\$10	02	\$10	12	\$15	\$12	AB	AB	232	82	18.0		F
49	2413	NFC2925027	KANOJIYA VISHAL SINODH ANITADEVI	\$15	\$12	\$17	\$12	\$15	\$20	\$15	\$17	\$10	\$13	\$16	\$17	\$10	14	\$14	\$12	\$17	\$12	\$15	\$16	\$18	\$25	332	136	22.0	6.18	B+
50	2410	NFC2925028	KAROTIYA VARUN NARESH NEETU	\$14	\$12	\$17	\$12	\$15	\$18	\$16	\$13	\$13	\$12	\$15	\$12	\$14	12	\$12	12	\$14	\$12	\$13	\$15	\$15	\$25	313	126	22.0	5.73	В
5	2432	NFC2925029	KHAN IQIB IQBAL ZULEKHA	\$11	\$14	\$10	\$27	\$10	\$20	\$16	\$15	\$15	\$24	\$17	\$16	\$18	\$12	\$12	\$27	\$10	12	\$16	\$18	15	20	355	152	22.0	6.91	B+
52	24162	NFC2925036	RAEEN MO AADIL MO SALIM JUBEDAKHATUN	\$15	13	\$12	\$12	\$13	\$20	\$14	\$12	\$13	01	\$15	\$12	\$14	12	\$14	04	\$14	\$12	\$13	\$15	\$18	\$25	293	104	18.0		F
50	3 2424	NFC2925038	RAM ROHITKUMAR SAROJKUMAR USHA	\$14	\$12	\$16	\$12	\$12	\$12	\$13	\$12	\$14	\$12	\$15	\$12	\$13	\$12	\$15	\$20	\$13	14	\$14	12	\$18	\$25	312	124	22.0	5.64	В
54	2404	NFC2925042	/ SHAIKH RASHIDA RIZWAN JOHRA	\$13	\$12	\$16	\$12	\$14	\$24	\$17	\$12	\$15	14	\$16	\$12	\$14	\$12	\$14	\$13	\$17	\$13	\$15	\$12	\$18	\$12	317	132	22.0	6.00	B+
5	2430	NFC2925043	SHAIKH RIYAN RASHID ASHABEE	\$10	\$12	\$14	12	\$12	\$12	\$17	\$12	\$13	04	\$16	\$12	\$14	12	\$11	\$12	\$11	12	\$15	\$12	AB	AB	245	86	18.0		F
56	24152	NFC2925047	SINGH ROHIT VICKY SARASWATI	\$12	\$12	\$14	12	\$14	\$14	\$15	16	\$13	\$12	\$15	13	\$14	12	\$10	04	\$10	12	\$13	\$12	AB	AB	249	94	18.0		F
5	24219	NFC2925059	YADAV ANKIT RAJESH MIRADEVI	\$11	\$12	\$15	12	\$12	\$12	\$16	16	\$12	12	\$15	19	\$12	12	\$11	\$12	\$13	\$12	\$14	\$12	\$18	\$25	305	116	22.0	5.27	С
58	2405	NFC2925076	SHAIKH DANISH NASIM ISRAT	\$12	14	\$13	\$12	\$11	\$12	\$16	12	\$13	12	\$14	\$12	\$12	\$12	\$11	12	\$10	\$13	\$13	\$12	\$18	\$25	291	112	22.0	5.09	С
59	24302	NFC2925080	PANDEY RAHUL RAJENDRA POONAM	\$15	\$14	\$16	\$12	\$15	\$24	\$18	\$12	\$18	12	\$18	\$24	\$14	\$12	\$16	\$22	\$14	\$12	\$18	\$24	\$18	\$25	373	158	22.0	7.18	A
60	24069	NFC2925083	MALLAH ADITYA SHIVANAND MEERA	\$11	AB	\$14	12	\$11	\$17	\$13	\$13	\$10	12	\$14	\$12	\$15	\$12	\$11	\$12	\$11	06	\$13	\$13	AB	AB	232	78	16.0		F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

## Result Register (A.T.K.T. Exam.)

Repeater

PR	OGRA	MME : Back	nelor of Commerce							- 6	•		EXA	MIN	ATIO	N : S	eptem	ıber -	2025	5							SE	MEST	ER: I	I
Sr. No.	Roll No.	Seat No.	Name		nerce-l I duction	у	untanc & ancial		of	to Bu	duction siness omics	Math	ancial ematic - II	al Is	onment sues nd	Sk	itional ill in unting -	Sk	ational ill in unting -	Kausl	khan halya - yalayin	ls	amenta of ople's	to S	luction ports, sical	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30					
61	24195	NFC2925003	BHANGARE GANESH PANDURANG SUNITA	\$17	17	\$19	\$17	\$14	\$21	\$14	\$14	\$18	\$28	\$16	\$12	\$15	\$12	\$15	\$17	\$10	\$17	\$15	\$21	\$18	\$25	372	158	22.0	7.18	А
62	24129	NFC2925005	/ BHOSALE TANISHA VITTHAL CHITRA	\$11	\$12	\$13	12	\$13	12	\$13	\$12	\$17	05	\$14	\$12	\$12	12	\$10	12	\$11	12	\$12	\$12	AB	AB	239	80	18.0		F
63	24279	NFC2925008	DARUTE AVISH RAJU SHILPA	\$13	\$12	\$13	\$12	\$13	\$14	\$14	\$12	\$13	\$12	\$17	\$13	\$12	04	\$10	\$12	\$10	12	\$16	\$16	\$18	\$25	293	112	20.0		F
64	24006	NFC2925017	INGLE KETAN GOPAL ANJU	\$13	04	\$15	05	\$14	\$12	\$14	\$13	\$14	\$15	\$14	\$12	\$12	\$12	\$11	\$18	\$15	\$12	\$13	\$12	\$18	\$25	293	100	18.0		F
65	24211	NFC2925023	/ KAMBLE DIKSHA RAMESH MEENA	\$14	\$16	\$17	\$12	\$16	\$24	\$17	\$21	\$19	\$22	\$17	\$25	\$16	\$12	\$19	\$28	\$17	\$16	\$16	\$28	17	21	410	176	22.0	8.00	A+
66	24212	NFC2925025	/ KAMBLE SONUBAI DEVIDAS JYOTSANA	\$14	\$18	\$16	\$14	\$15	\$24	\$10	\$16	\$13	\$18	\$14	\$16	\$15	\$12	\$15	\$19	\$13	\$18	\$13	\$23	17	20	353	152	22.0	6.91	B+
67	24008	NFC2925057	WAGHMARE PRANIT GANESH ARCHANA	\$14	\$12	\$15	06	\$12	\$12	\$16	\$12	\$14	\$12	\$14	\$12	\$14	\$12	\$11	\$16	\$13	\$12	\$13	\$12	\$18	\$25	297	108	20.0		F
68	24266	NFC2925064	YADAV SHIVAM AMARJEET ANITA DEVI	\$10	\$12	\$10	\$12	\$10	\$23	\$14	\$12	\$10	\$15	\$14	\$12	\$10	14	\$10	\$13	\$17	12	\$10	\$18	\$18	\$12	288	114	22.0	5.18	С
69	24093	NFC2925066	ZATE VAIBHAV RAVINDRA RAVINA	\$13	\$12	\$15	\$12	\$12	\$19	\$14	\$15	\$14	12	\$18	\$13	\$14	\$12	\$15	\$23	\$17	\$18	\$14	\$18	\$18	\$25	343	144	22.0	6.55	B+
70	24013	NFC2925067	/ SERIA DASAA DEEPAK VARSHA	\$15	\$12	\$18	12	\$14	06	\$17	\$12	\$12	\$12	\$15	\$12	\$14	\$12	\$14	03	\$15	\$12	\$14	\$15	\$15	\$25	296	104	18.0		F
71	24163	NFC2925071	MASKAR PRAVIN VASANT SUVARNA	\$18	15	\$10	\$12	\$18	\$17	\$10	\$15	\$20	\$15	\$15	\$12	\$10	13	\$15	\$12	\$10	\$17	\$16	\$23	\$18	\$25	336	136	22.0	6.18	B+
72	24164	NFC2925072	CHORAGE RUSHIKESH SHIVAJI SHUBHANGI	\$17	22	\$10	\$12	\$19	\$16	\$10	\$16	\$17	\$16	\$15	\$12	\$10	\$14	\$18	\$17	\$10	\$12	\$16	\$12	\$18	\$12	321	132	22.0	6.00	B+
73	24166	NFC2925073	HIRVE DHANAJI KRUSHNA VENUBAI	\$16	12	\$10	\$12	\$19	\$17	\$10	\$14	\$20	05	\$14	\$12	\$10	\$12	\$17	\$12	\$10	\$12	\$15	\$24	\$18	\$12	303	112	20.0		F
74	24170	NFC2925074	/ SALTE TANVI SANJAY SWATI	\$17	12	\$10	\$12	\$19	\$12	\$10	\$12	\$18	\$12	\$15	\$12	\$10	\$12	\$18	\$12	\$10	\$15	\$15	\$12	\$18	\$12	295	122	22.0	5.55	В
75	24203	NFC2925082	KATARE PRANAV TUSHAR PINKY	\$11	AB	\$14	12	\$12	\$15	\$15	\$12	\$18	\$16	\$14	\$12	\$12	12	\$12	12	\$12	\$12	\$12	\$14	AB	AB	249	88	18.0		F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

### Result Register (A.T.K.T. Exam.)

Repeater **SEMESTER**: II

**PROGRAMME**: Bachelor of Commerce

	Roll No.	Seat No.	Name	- 1		у	&	s	of	to Bus	siness	Math	ematic	al Is	onment sues	Sk	ill in	Sk	ill in	Kaush	nalya -	ls	of		&	Marks		Credits Earned	1	Grade
			<u> </u>					Manag IA					- II SEE		nd SEE					` '	,	;		<u>'</u>						
				8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30					<u>i</u>
76	24080	NFC2925054	/ VALMIKI ROSHNI SANJAY SEEMA	\$15	02	\$15	12	\$12	\$17	\$14	\$12	\$11	\$12	\$16	\$12	\$15	12	\$11	\$14	\$14	\$12	\$14	\$12	\$16	12	282	104	20.0		F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

### Result Register (A.T.K.T. Exam.)

Repeater

**SEMESTER**: II

PROGRAMME: Bachelor of Commerce EXAMINATION: September - 2025

Sr. No.	Roll No.	Seat No.	Name	Comn	nerce-l		untanc &		mental of		luction siness		ncial		onment sues		ational ill in		tional II in	Lek	han nalya -	Funda Is			nsion rk - II	Total		1		Grade
INO.	INO.			(Introd	duction	,	ncial	_	gement				-				ınting -	_			,	_		VVOI	IK - II	Marks	CG	Earned		
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	ΙA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE					
				8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30					
77	24215	NFC2925007	/ CHAVAN TRUPTI VINOD VINITA	\$14	\$12	\$15	\$12	\$13	\$16	\$10	\$13	\$17	\$17	\$16	\$12	\$12	12	\$12	\$21	\$10	\$19	\$15	\$15	\$14	\$12	309	124	22.0	5.64	В
78	24209	NFC2925010	GAMRE KRISHNA BABAN SANGEETA	\$13	06	\$10	12	\$10	\$12	\$15	\$14	\$17	03	\$14	\$12	\$12	\$12	\$12	\$12	\$12	\$12	\$13	\$19	\$14	12	268	86	18.0		F
79	24054	NFC2925018	/ JADHAV RIDDHI DINESH DIVYA	\$13	12	\$15	\$12	\$11	\$19	\$16	\$12	\$14	\$12	\$15	13	\$12	12	\$11	\$12	\$14	\$12	\$14	\$12	\$14	\$12	289	114	22.0	5.18	С
80	24012	NFC2925019	/ JADHAV SRUSHTI ASHOK SWATI	\$13	12	\$17	12	\$13	\$15	\$15	\$12	\$16	\$16	\$14	\$12	\$14	\$12	\$14	\$12	\$17	\$20	\$13	\$12	\$12	\$12	305	122	22.0	5.55	В
81	24200	NFC2925020	/ JADHAV SUPRIYA TUKARAM SANGITA	\$15	12	\$16	12	\$15	\$17	\$16	\$12	\$11	\$12	\$16	\$12	\$16	\$12	\$14	00	\$16	\$14	\$15	\$12	\$14	\$15	294	116	20.0		F
82	24055		/ USKILWAD VAISHNAVI SURYAKANT LAXMIBAI	\$13	03	\$14	\$12	\$12	\$12	\$18	12	\$13	12	\$15	\$12	\$12	12	\$11	\$12	\$13	\$12	\$14	\$12	\$15	\$12	273	98	20.0		F
83	24010	NFC2925055	/ VARIK PRANOTI PRAVIN PRANALI	\$14	01	\$15	\$12	\$13	\$15	\$14	\$12	\$12	\$13	\$14	\$12	\$12	\$12	\$11	\$14	\$15	\$17	\$12	20	\$12	\$12	284	106	20.0		F
84	24046	NFC2925056	VINERKAR PRANAY GANESH SAHILI	\$12	\$12	\$17	12	\$13	\$14	\$16	12	\$12	03	\$14	\$12	\$13	\$12	\$10	\$12	\$11	\$12	\$13	\$12	\$14	\$12	270	98	20.0		F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

## Result Register (A.T.K.T. Exam.)

Repeater SEMESTER : II

**PROGRAMME**: Bachelor of Commerce **EXAMINATION**: September - 2025

Sr. No.	Roll No.	Seat No.	Name	Comn	I	у	&	s		to Bu	siness	Mathe	incial ematic - II		sues	Ski	ill in	Voca Ski Accou	ll in	Bhas	sha -	ls	of		dation & oration	Total Marks		Credits Earned	l .	Grade
					SEE	IA	SEE	IA	SEE	IA	SEE	IA			SEE	IA	SEE	IA	SEE	IA	SEE	IA			SEE					
				8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30				<u> </u>	
85	24182	NFC2925002	/ BANGAL ANISHA AMOL SONI	\$14	\$12	\$16	12	\$14	\$18	\$17	\$13	\$17	\$13	\$16	\$16	\$16	\$12	\$14	\$12	\$14	\$13	\$15	\$18	\$18	\$22	332	142	22.0	6.45	B+
86	2417	NFC2925051	/ THAKUR RAJNI SATISH AARTI	\$17	02	\$10	\$12	\$10	\$20	\$10	\$12	\$14	\$12	\$08	\$15	\$10	\$12	\$18	04	\$10	12	\$15	\$18	\$16	\$12	269	90	18.0		F
87	2418	NFC2925063	YADAV SANDEEP KUMAR RAMSAGAR SANGEETA	\$12	12	\$14	12	\$14	\$15	\$14	\$12	\$14	\$12	\$15	\$12	\$12	12	\$13	12	\$12	\$12	\$13	\$12	\$18	\$12	286	110	22.0	5.00	С